

AOA 
$$\int \sin 12 \, c_{+}$$
  
I.a.  $\frac{2x_{+}3}{4x^{-1}} = \frac{A}{2x_{+1}} + \frac{B}{2x_{+1}}$   
 $2x_{+}3 = A(2x_{+1}) + B(2x_{-1}) \quad ([4x^{-}-1] + (2x_{+1})(2x_{-1})]$   
 $x^{-} - \frac{1}{2x_{+}}; \quad 2 = -28 \implies B = -1$   
 $x = \frac{1}{4x}; \quad \frac{1}{2}; \quad 2 = -28 \implies B = -1$   
 $x = \frac{1}{4x}; \quad \frac{1}{2}; \quad 2 = -28 \implies B = -1$   
 $\frac{2x_{+}3}{4x^{-}-1} = \frac{2}{2x_{+1}} = \frac{1}{2x_{+1}}$   
I.b.  $\frac{12x^{2} - 7x - 6}{4x^{2} - 1} = Cx + \frac{D(2x_{+}3)}{4x^{2} - 1}$   
 $12x^{3} - 7x - 6 + Cx(4x^{2} - 1) + D(2x_{+}3)$   
 $+ 4Cx^{2} - cx + 2Dx + 3D$   
 $x^{3}$  herms :  $12x^{3} = 4xCx^{3} \implies 2 - 2$   
 $\frac{12x^{3} - 7x - 6}{4x^{2} - 1} = 3x - \frac{2(2x_{+}3)}{4x^{2} - 1}$   
I.e.  $\int_{-1}^{a} 3x - \frac{2(2x_{+}3)}{4x^{2} - 1} dx$   
 $= \int_{-1}^{a} 3x - 2\left(\frac{2}{2x_{+1}} - \frac{1}{2x_{+1}}\right) dx$   
 $: \int_{-1}^{2} 3x - \frac{4x}{2x_{+1}} + \frac{2}{2x_{+1}} dx$ 

Maths Made Easy © Complete Tuition Ltd 2017

$$= \left[\frac{3}{2}x^{2} - 2\ln|2x-1| + \ln|2x+1|\right]_{1}^{2}$$

$$= \left(\frac{3}{2}(2)^{2} - 2\ln|3 + \ln|5|\right) - \left(\frac{3}{2}(1)^{2} - 2\ln|1 + \ln|3|\right)$$

$$= \left(-2\ln|3 + \ln|5| - \frac{3}{2} - \ln|5|\right)$$

$$= \left(-2\ln|3 + \ln|5| - \frac{3$$

•

.

.

201.

- -

2b. 
$$\tan(\alpha + \beta) = \frac{\tan \alpha + \tan \beta}{1 - \tan \alpha + \tan \beta}$$
  
 $= \frac{4/3}{1 - (4/3)(-\frac{1}{43})}$   
 $= \frac{4/3}{1 - (4/3)(-\frac{1}{43})}$   
 $= \frac{4 - \sqrt{3}}{3}$   
 $= \frac{4 - \sqrt{3}}{9}$   
 $= \frac{12 - 3\sqrt{3}}{9}$   
 $= \frac{12 - 3\sqrt{3}}{9}$   

Maths Made Easy © Complete Tuition Ltd 2017

3e. 
$$(8 + 6x)^{3/4} = 100^{1/3}$$
 (cube both mides)  
 $(8 + 6x)^2 = 100$   
 $8 + 6x = 10$   
 $x = 1/3$   
so  $(8 + 6x)^{5/3} = 100^{1/3}$  when  $x = \frac{1}{3}$   
so  $(8 + 6x)^{5/3} = 100^{1/3}$  when  $x = \frac{1}{3}$   
so  $(8 + 6x)^{5/3} = 100^{1/3}$  when  $x = \frac{1}{3}$   
 $100 = 300$   $\approx 14 + 2(\frac{1}{3}) - \frac{1}{4}(\frac{1}{3})^4 + ...$   
 $= \frac{167}{34}$   
 $14a$  P: A = 0.1254  
when tro, P = 500  
 $8 - 8a^{\circ} = 2 - 8 - 500$   
P:  $500 e^{0.1254}$   
 $1 + 60;$  P:  $500 e^{60 \times 60.135}$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.021...$   
 $= 904.020$  (nearest 1000)  
 $4b$ .  $O = 500,000 e^{-0.1354}$ ;  $500 e^{0.1354}$   
 $500,000 + 500 e^{0.254}$   
 $= 1000 \cdot 1...$   
 $0.254 = 4.01000$   
 $t \cdot \frac{2.0100}{0.25} = 27.6$  (14p)

4

Sbi. 
$$x \cdot 8t^{2} - t$$
  $y = 3t^{-1}$   
 $\frac{dx}{dt} = 16t - 1$   $\frac{dy}{dt} = -3t^{-2}$   
 $\frac{dy}{dt} = \frac{-3t^{-2}}{16t - 1}$   
 $\frac{dy}{dt} = \frac{-3t^{-2}}{16t - 1}$   
 $\frac{dy}{dt} = \frac{-3t^{-2}}{16t - 1}$   
 $\frac{dy}{dt} = \frac{-3(0.75)^{-2}}{16(0.75)^{-1}} = -16$   
 $x \cdot 8(0.75)^{1} - 0.25 = 1/L$   
 $y = 3(0.75)^{1} - 12$   
 $y - 12 = -16(x - 1/L)$   
 $y = 3(0.75)^{1} - 12$   
 $y - 12 = -16x + 1L$   
 $y = -16x + 16$   
 $\frac{y}{12} = -16x + 1L$   
 $\frac{y}{12} = -16x + 12$   
 $\frac{y}{12} = -16x + 12$   

Maths Made Easy © Complete Tuition Ltd 2017

1

61.  
27 
$$\cos 0 \cos 2\theta + 19 \sin 0 \sin 2\theta - 15 = 0$$
  $x + \cos 0$   
51  $\cos^3 \theta - 27 \cos \theta + 38 \sin^3 \theta \cos \theta - 15 = 0$   
51  $\cos^3 \theta - 27 \cos \theta + 38 (1 - \cos^3 \theta) \cos \theta - 15 = 0$   
51  $\cos^3 \theta - 27 \cos \theta + 38 (1 - \cos^3 \theta) \cos \theta - 15 = 0$   
51  $\cos^3 \theta - 27 \cos \theta + 38 (\cos \theta - 38 \cos^3 \theta - 15 = 0)$   
16  $\cos^3 \theta + 11 \cos \theta - 15 = 0$   
16  $\cos^3 \theta + 11 \cos \theta - 15 = 0$   
16  $\cos^3 \theta + 11 \cos \theta - 15 = 0$   
16  $x^3 + 11x - 15 = 0$   
6c.  
 $\frac{16x^3 + 12x^3}{12x^3 + 11x} + \frac{12x^3 - 9x}{20x - 15}$   
 $\frac{20x - 15}{0}$   
 $f(x) \cdot (11x^3 + 3x + 5)(11x - 3)$   
either  $11x - 3 = 0$  or  $11x^4 + 3x + 5 = 0$   
 $11x^3 - 9x$   
 $\frac{12x^3 - 9x}{20x - 15}$   
 $\frac{20x - 15}{0}$   
 $f(x) \cdot (11x^4 + 3x + 5)(11x - 3)$   
either  $11x - 3 = 0$  or  $11x^4 + 3x + 5 = 0$   
 $11x^3 - 9x$   
 $11x^3 - 9x$   
 $11x^3 - 9x$   
 $\frac{11x^3 - 9x}{20x - 15}$   
 $\frac{11x^3 - 9x}{10x^3 - 9x^3}$   
 $\frac{11x^3 - 9x^3}{10x^3 - 9x^3}$   
 $\frac{11x^3 - 9x^3}{10x^3$ 

7. 
$$\frac{dy}{dx} = y^2 x \sin 3x$$
  
 $\int y^{-2} dy = \int x \sin 3x dx$   
 $\int x \sin 3x dx$  Parb  $u = x$  V' =  $\sin 3x$   
 $u' = 1$  V =  $-\frac{1}{3} \cos 3x$   
 $u' = -\frac{1}{3} x \cos 3x - \int -\frac{1}{3} \cos 3x dx$   
 $= -\frac{1}{3} x \cos 3x - \int -\frac{1}{3} x \cos 3x dx$   
 $= -\frac{1}{3} x \cos 3x + \frac{1}{9} \sin 3x + c$   
 $\int y^{-2} dy = -\frac{1}{3} x \cos 3x + \frac{1}{9} \sin 3x + c$   
 $\int y^{-2} dy = -\frac{1}{3} x \cos 3x + \frac{1}{9} \sin 3x + c$   
 $= -y^{-1} = -\frac{1}{3} x \cos 3x + \frac{1}{9} \sin 3x + c$   
 $= -y^{-1} = -\frac{1}{3} x \cos 3x + \frac{1}{9} \sin 3x + c$   
 $= -\frac{1}{3} = -\frac{1}{3} x \cos 3x + \frac{1}{9} \sin (\pi/2) + c$   
 $= -\frac{1}{3} = -\frac{1}{3} x \cos 3x + \frac{1}{9} \sin 3x - \frac{10}{9}$   
 $= \frac{1}{3} = -\frac{3x \cos 3x}{9} + \frac{\sin 3x - 10}{9}$   
 $= \frac{1}{3} = -\frac{3x \cos 3x}{9} + \frac{\sin 3x - 10}{9}$   
 $= \frac{1}{3} = -\frac{3x \cos 3x}{9} + \frac{3 \sin 3x - 10}{9}$   
 $= \frac{1}{3} = -\frac{3x \cos 3x}{3x \cos 3x - \sin 3x + 10}$ 

•

$$\begin{aligned}
\delta \alpha_{n} & \beta_{n}\left(u_{n}, 2, 3\right) & \beta_{n}\left(2, 0, -1\right) \\
\delta & g_{n}\left(\frac{u_{n}}{2}, \frac{1}{3}\right) + \lambda_{n}\left(\frac{1}{3}\right) \\
& \beta \delta + \delta \delta - \delta \delta \\
& \left(\frac{2}{3}\right) - \left(\frac{u_{n}}{3}\right) \\
& \left(\frac{2}{3}\right) \\
& \left(\frac{2}{3}\right) \\
& \left(\frac{2}{3}\right) \\
& \left(\frac{2}{3}\right) \\
& \left(\frac{1}{3}\right) - \left(\frac{1}{3}\right) \\
& \left(\frac{1}{3}\right) \left(\frac{1}{3}\right) \\
&$$

C has on 
$$l$$
 so  $\overrightarrow{OC} : \begin{pmatrix} u + \lambda \\ -2 + 5\lambda \\ 3 + 2\lambda \end{pmatrix}$  for some  $\lambda$   
 $\overrightarrow{BC} : \overrightarrow{OC} - \overrightarrow{OB}$   
 $: \begin{pmatrix} u + \lambda \\ -2 + 5\lambda \\ 3 + 2\lambda \end{pmatrix} - \begin{pmatrix} 2 \\ 0 \\ -1 \end{pmatrix}$   
 $: \begin{pmatrix} 2 + \lambda \\ -2 + 5\lambda \\ 4 + 2\lambda \end{pmatrix}$   
 $\overrightarrow{PB} \cdot \overrightarrow{BC} : 0$   
 $\begin{pmatrix} -2 \\ -u \\ -2 \end{pmatrix} \cdot \begin{pmatrix} 2 + \lambda \\ -2 + 5\lambda \\ 4 + 2\lambda \end{pmatrix} : 0$   
 $-2(2 + \lambda) + 2(-2 + 5\lambda) - 4(4 - 2\lambda) : 0$   
 $-4 - 2\lambda - 4 + 10\lambda - 16 + 3\lambda : 0$   
 $16\lambda : 24 \lambda$   
 $\lambda : 3/2$   
 $\overrightarrow{OD} \cdot \overrightarrow{OA} + \overrightarrow{BC}$   $(\overrightarrow{BC} parallel t \overrightarrow{AD})$   
 $\overrightarrow{BC} \cdot \begin{pmatrix} 2 + 3/2 \\ -2 + 3/2 \\ -2 + 3/2 \end{pmatrix} : \begin{pmatrix} 11/2 \\ 11/2 \\ 0 \end{pmatrix}$   $C(55, 5:5, 0)$   
 $\overrightarrow{OD} \cdot \overrightarrow{OA} + \overrightarrow{BC}$   $(\overrightarrow{BC} parallel t \overrightarrow{AD})$   
 $\overrightarrow{BC} \cdot \begin{pmatrix} 2 + 3/2 \\ -2 + 3/2 \\ -2 + 3/2 \end{pmatrix} : \begin{pmatrix} 3 + 5 \\ 5 + 5 \\ 1 \end{pmatrix}$   
 $\overrightarrow{OD} \cdot \begin{pmatrix} -2 + 3/2 \\ -2 + 3/2 \\ -2 + 3/2 \end{pmatrix} : \begin{pmatrix} 3 + 5 \\ 5 + 5 \\ 1 \end{pmatrix}$   
 $\overrightarrow{OD} \cdot \begin{pmatrix} -2 + 3/2 \\ -2 + 3/2 \\ -2 + 3/2 \end{pmatrix} : \begin{pmatrix} 3 + 5 \\ 5 + 5 \\ 1 \end{pmatrix}$   
 $\overrightarrow{D} (35, 3 + 5, 4)$